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Maximum Instruction Time : 0

Is Section Default? : null

Question Number : 1 Question Id : 54947027821 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the independent variable in the process of teaching learning?

Options :

Student
1. %

Parents
2. %

Teacher
3.

Education Institution



Question Number : 2 Question Id : 54947027822 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the pioneer in the concept of micro-teaching?
Options :

Oxford University

Stanford University

2.

Delhi University
3. %

Madras University
4, %

Question Number : 3 Question Id : 54947027823 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When a student asks a question for which the teacher has no direct, correct answer,
he should

Options :



Ask the student to find out the answer himself from the library

1. %
Tell the student not to put irrelevant questions
2. %
Provide some vague answer to satisfy the student
3. %
Tell the student that he would tell correct answer later
4. ¢

Question Number : 4 Question Id : 54947027824 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is appropriate in the context of teacher- student relationship?
Options :

Informal and intunate

Cordial and peaceful
2.¢



Indifferent

Restricted to classroom dynamic

Question Number : S Question Id : 54947027825 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Assertion (A): Formative learning tends to accelerate the process of learning.

Reason (R): As against summative evaluation formative evaluation is highly reliable.

Choose the correct answer from the following code:

Options :

Both (A) and ( R) are true. and (R) 1s not the correct explanation of (A).
], %

Both (A) and ( R) are true, and (R) is the correct explanation of (A).
2. %

(A) 1s true, but (R) is false.
3.

(A) 1s false. but (R) is true.



Question Number : 6 Question Id : 54947027826 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

During which year, Educational T V was introduced in India?

Options :

1971
1. %

1961
2. %

1968
3.¢

1978
4, %

Question Number : 7 Question Id : 54947027827 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary objective of NCTE —1is

Options :

To maintain standards in education colleges.
1. ¢



To open education colleges.

2. %
To provide grant aid to education colleges.
3. %
To promote research in education.
4, %

Question Number : 8 Question Id : 54947027828 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The quality of research is primarily adjudicated on the basis of

Options :

The rigour with which it was carried out .
1.v

The place of publication

The manner in which the action is taken on recommendations.

3. %



Quantitative aspects.

Question Number : 9 Question Id : 54947027829 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A research which has explored ideas based on the new facts through the study of the
past is called.

Options :

Historical research

1.¢
Mythological research
2. %
Content analysis
3. %
Philosophical research
4.%

Question Number : 10 Question Id : 54947027830 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is not a research method?

Options :

Historical
1. ®

Survey
2. %

Philosophical
3. %

Observation
4.

Question Number : 11 Question Id : 54947027831 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

is not required in experimental researches.
Options :

Manipulation
], ®



Controlling

2. %

Content analysis
3.¢

Observation
4. %

Question Number : 12 Question Id : 54947027832 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following, a satisfactory statistical quantitative method should not
possess?

Options :
Measurability
1 ®
Flexibility
2.¢
Appropriateness



Comparability

Question Number : 13 Question Id : 54947027833 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is specifically related to a research design?
A. Designing Hypothesis
B. Choice of field inquiry
C. Sample selection
D. Formulation of plan

E. Deciding the tools to be employed in data collection

Options :

B.C.and D

1. ®

A.B.and C



C.D.and E
3. ¢

B.Dand E

Question Number : 14 Question Id : 54947027834 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The acronym SPSS stands for:

Options :

Software Package for Social Sciences
1. %

Statistical Package for Social Sciences

2. ¥

Statistical Package for Studies in sociology
3. %

Statistical Package for social studies
4. %

Is Section Default? : null



Question Id : 54947027835 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (15 to 21)

Read the following passage carefully and answer the questions from 15 to 21:

For the mobility-impaired. highly trained canines called ‘service dogs’ can pick up
dropped keys. open and close drawers, retrieve prepared meals, help a person m and out of
bathtub. dial 911. push and pull wheelchairs. help operate a car or van and pull off gloves.
shoes, socks and jackets. Other dogs provide specific assistance to those who suffer seizures
(sudden attacks of illness) and require special medication. And, of course, the helping dogs
provide companionship, play and give unconditional love to the people they assist. It is thirty
odd years now since the placement of the first assistance dog. But only in recent years. with
the rising independent movement among disabled people has the idea begun to sored widely.
While most service-dogs are trained to work with people who rely on wheelchairs. other
categories of helping dogs include hearing —dogs who alert their owners to sounds, such as
doorbells, phones, cooking times, alarm clocks, smoke alarms and seizure dogs which carry
medication in their packs and are trained to dial 911 on large keypad phones.

Sub questions

Question Number : 15 Question Id : 54947027836 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which kind of dogs, alerts their owners to sounds. such as doorbells and phones?

Options :



Service dogs

1. ®

Canines
2. %

Siezure dogs
3. %

Hearing dogs
4.9

Question Number : 16 Question Id : 54947027837 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The service-dogs are

Options :

Paid highly

Less in number

Multiple taskers
3.



Emplovyees

Question Number : 17 Question Id : 54947027838 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The idea of assistance dogs became popular due to

Options :

Independent movement among the disabled
I

awareness in hospitals
2. %

Independence of the country

Both independent movement among the disabled and awareness in hospitals

Question Number : 18 Question Id : 54947027839 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The categorie of helping —dogs is

Options :

domestic. service and seizure dogs
1. %

service, hearing and seizure dogs
2.¢

hunting and domestic dogs
3. %

hearing and domestic dogs
4.%

Question Number : 19 Question Id : 54947027840 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The passage makes a distinct difference between

Options :

service and helping dogs
1. ¢



service dogs and canines

2. %

canines and ordinary dogs
3. %

Both service dogs and canines and canines and ordinary dogs
4. %

Question Number : 20 Question Id : 54947027841 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

State the noun form of *© trained’

Options :
train
], ®
trainer
2. %
training

3.¢



trainee

Question Number : 21 Question Id : 54947027842 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which dogs are trained to work with people who rely on wheelchairs?

Options :

Hearing dogs

Siezure dogs

2. %
Service dogs
3.¢
Street dogs
4.%
Is Section Default? : null

Question Number : 22 Question Id : 54947027843 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is Berol’s Linear Model of communication?

Options :

S-M-R-C
1. %

S-R-M-C
2. ®

S-M-C-R
3.¢

S-R-C-M
4, #®

Question Number : 23 Question Id : 54947027844 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Communication which has no beginning or end is known as
Options :
Process

1. v

Meditation



Interaction

Transaction

Question Number : 24 Question Id : 54947027845 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following does not contribute to effective communication?

Options :

Adequate medium
1, ®

Clarity in language
2. %

Listen poorly
3.¢

Home communication skill
4, %



Question Number : 25 Question Id : 54947027846 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example of channel communication.

Options :
Face — to — face conversation
1. ¥
Noise
2. %
Feedback
3 %
Context
4. %

Question Number : 26 Question Id : 54947027847 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among the following. which indicates the problem arising from expression?

Options :

Wrong assumption



Cultural barriers

2. %
Selecting perception

3. %
Semantic problems

4.9

Question Number : 27 Question Id : 54947027848 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India. 1s not the concern for mass media.
Options :

Privacy

Manipulation

Integration of society
3.



Security

Question Number : 28 Question Id : 54947027849 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

2,9.28,65. 126, 217,344,

Options :

361
1. #

362
2. %

369

3. %

513
4.

Question Number : 29 Question Id : 54947027850 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

B.D,G,LL N




Options :

N
1. ¥

O
2. %

Q
3. ¢

P
4. %

Question Number : 30 Question Id : 54947027851 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When “PAT” is coded as “QRBCUV™, then how will you code “GRACE™?

Options :

HISTBCDEGF
1. %

HISTBCDEFG
2.9

HISBTCDEFG



HISTBCEDEG

Question Number : 31 Question Id : 54947027852 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

E 1s the son of A: D is the son of B: E is married to C: C is the daughter of B. How
is D related to E?

Options :

Brother
1. %

Uncle
2. %

Brother-in-law
3.

Father-in-law
4. %

Question Number : 32 Question Id : 54947027853 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



1/5% of Eiffel tower is painted with bronze.1/4® maroon and the rest. golden. If the
height of golden-colored part is 450m, what is the height of Eiffel tower?

Options :

2.250m
1. %

750m
2. ¢

1000m
3, %

1.250m
4, %

Question Number : 33 Question Id : 54947027854 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Pankaj from the home with a speed of 30kmv/h. reaches the school late by 20
minutes. Next day by increasing the speed by 15km/h. reached the school late by 8
minutes. How far is the school from home?

Options :
35 km

1. ®



18 km

2.9

20km
3, %

27km
4, %

Question Number : 34 Question Id : 54947027855 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If 30 men carry out a piece of work in 27 days, how many days is required for 18
men to perform another piece of work, which is 3 times bigger

Options :

135 days
1.v

120 days
2. ®

150 days

3. %



180 days

Question Number : 35 Question Id : 54947027856 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If two liters of water is evaporated by boiling 8 liters of sugar solution with 5%
sugar, findout the percentage of sugar in the remaining solution?

Options :

3%
1. #

2

65 %
2.

9%
3. %

10%
4, %

Question Number : 36 Question Id : 54947027857 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A reasoning started with a particular statement and concluded with a universal
statement is known as

Options :
Deductive reasoning
1. %
Transcendental reasoning
2. %
Inductive reasoning
3. ¢
Abnormal reasoning
4.%

Question Number : 37 Question Id : 54947027858 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not an argument?
Options :

Devadutt does not eat during day. so he must be eating at night.



Devadutt eats in the night, so he does not eat during the day

2. %
If Devadutt is growing fat and if he does not eat during the day. he will be
eating at night.
3.¢
Since Devadutt does not eat in the day, he must be eating in the night.
4.%

Question Number : 38 Question Id : 54947027859 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Two propositions with the same subject and predicate terms. but different in quality
are termed as:

Options :

Contrary
1. ®

Subaltern
2. %

Subalternation



Contradictory
4. &

Question Number : 39 Question Id : 54947027860 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Inductive reasoning presupposes

Options :

God created the world

Uniformity of nature

2. %

Law of the nature
3, %

Unity of nature.
4.«

Question Number : 40 Question Id : 54947027861 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Venn diagram is a kind of diagram to



Options :

Represent but not assess the validity of elementary inferences of syllogistic

- form.
Represent and assess the validity of elementary inferences of syllogistic
form.

2.¢
Represent and assess the truth of elementary inferences of syllogistic form.

3. %
Assess but not represent the truth of elementary inferences of syllogistic
form.

4.%

Question Number : 41 Question Id : 54947027862 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Indian school of logic uses pramana to prove the existence of God.

Options :

Arthapatti

Anumana
2.



Upamana

Pratyaksha

Question Number : 42 Question Id : 54947027863 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Concept of Indian logic system denotes circumstantial implication.

Options :
Upamana

1 ®

Anupalabdi
2. %

Pratyaksa

3. %

Arthapatti
4.9

Is Section Default? : null



Question Id : 54947027864 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (43 to 45)

Note:

Study the following bar chart carefully and answer the questions 43 to 45. It gives sales
(in thousands) of a product over years 2016 - 2021.

£
o
o

340

]
7))
=]

Sales in €.
(Thousands)

300

2016 2017 2018 2019 2020 2021

Years

Sub questions

Question Number : 43 Question Id : 54947027865 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the average sales for the period 2018 to 2021?



Options :

425
1. #

430
2. %

420
3. %

415
4.

Question Number : 44 Question Id : 54947027866 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sales of 2017 are times of sales 2018.

Options :

0.8



Question Number : 45 Question Id : 54947027867 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year. the percentage of increase over the previous year is the least?

Options :
2016
1. %
2020
2.9
2018
3. %
2019
4, %
Is Section Default? : null

Question Id : 54947027868 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Question Pattern Type :
NonMatrix Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 49)



Note:

Study the following table carefully and answer the questions from 46 to 49. It consists of
data on marks obtained by various candidates in different subjects

Subjects (Max Marks)
Students Maths Chemistry | Physics Geography History Comp
(150) (130) (120) (100) (100) Science (100)
Avyush 90 50 90 60 70 80
Aman 100 80 80 40 80 70
Sajal 90 60 70 70 90 70
Rohit 80 65 80 80 60 60
Muskan 80 65 85 95 50 90
Tanvi 70 75 65 85 40 60
Tarn 65 35 50 i 80 80

Sub questions

Question Number : 46 Question Id : 54947027869 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following has obtained the highest aggregate marks?

Options :




Avyush

1. %
Aman
2. %
Sajal
3 %
Muskan
4.

Question Number : 47 Question Id : 54947027870 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the average of marks obtained by all candidates in Physics?

Options :

62.85
1. %

74.28
2.

18.52



No answer

Question Number : 48 Question Id : 54947027871 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the average of marks obtained by Aman for all subjects?

Options :
72
1. %
15
2.9
80
3. %
85
4, %

Question Number : 49 Question Id : 54947027872 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the approximate percentage of marks obtained by Ayush?



Options :

72
1. %
13
2.9
75
3. %
78
4, %
Is Section Default? : null

Question Number : 50 Question Id : 54947027873 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following employs asynchronous communication?
A) Video conferencing

B) Email

C) Forums

D) Instant messaging

Choose the correct option.

Options :



A and C

1. %
Band D
2. %
B and C
3.¢
AandD
4, %

Question Number : 51 Question Id : 54947027874 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Read the following two statements:

A) ICT is considered a subset of IT.

B) The “right to use” a piece of software is termed as copyright.
Which of the above statements(s) 1s/are correct?

Options :

Neither (A) nor (B)
1.v



Both (A) and (B)

2. %

(B) only
3. %

(A) only
4. %

Question Number : 52 Question Id : 54947027875 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following can be taken the digital library for education?

Options :

Swayain
1. #

MOOC
2. %

Sakshat
3. %

NPTEL

4.



Question Number : 53 Question Id : 54947027876 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following lists computer memory sequentially from highest to lowest
speed?

Options :

i} Secondary storage: Main Memory (RAM). Cache Memory; CPU Registers
1.

. CPU Registers: Cache Memory: Secondary storage: Main Memory (RAM)
2.

. Cache Memory: CPU Registers: Main Memory (RAM): Secondary Storage
3.

CPU Registers: Cache Memory: Main Memory (RAM): Secondary Storage

4. v

Question Number : 54 Question Id : 54947027877 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Each computer connected to the internet should

Options :



Be an IBM PC

1. ®
Have a unique IP address
2. ¢
Have a modern connection
3. %
Be internet compatible
4. %

Question Number : 55 Question Id : 54947027878 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is exact format of Email address?

Options :

name(@website.info
1. ¢

name(@website@info
2. %

www.nameofebsite.com
3 %



name.website.com

Question Number : 56 Question Id : 54947027879 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

is the oldest soap opera telecasted in India.

Options :
Kahani Ghar Ghar Ki
1. %
Bunivaad
2. %
Kyvunki Saas Bhi Kabhi Bahu Thee
3 % '
Hum Log
4, &

Question Number : 57 Question Id : 54947027880 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Indicate the name of the research station established for conducting research at
Antarctica by Government of India

Options :

Yamunotri
], %

UttariGangotri
2. %

DakshinGangotri
3.

None of these.

4. %

Question Number : 58 Question Id : 54947027881 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following are priority areas related to the sustainable development
Goals?

i. No poverty

il. Peace, Justice and strong institutions

i11.  Zero hunger

iv. Reducing urbanization

Choose the correct answer from the options given below.

Options :

(i) . (iii). (iv)
1. %

(i1). (iit). (1v)
2. %

(D). (i1). ()
3. &

(1). (11), (111)
4. v

Question Number : 59 Question Id : 54947027882 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The commeon feature between NO2., SO,. CO and SPM 1s

Options :

Are greenhouse gases
1. ®

Are classified as secondary pollutants
2. %

Are classified as primary pollutants
3. ¢

Have equal role in causing acid rain
4. %

Question Number : 60 Question Id : 54947027883 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Given below are an assertion and a reason:

Assertion (A):

Methaemoglobinaemia i1s a condition wherein blood is unable to carry and deliver
enough oxygen to the body.

Reason (R):

Consumption of drinking water with high nitrate level may lead to
Methaemoglobinaemia.

Choose the correct answer from the options given below:

Options :

Both (A) and (R) are true but (R) is not the correct explanation of (A).

Both (A) and (R) are true and (R) is the correct explanation of (A).

2.¢

(A) 1s true. but (R) is false
3. %

(A) is false, but (R) is true.
4.%

Question Number : 61 Question Id : 54947027884 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following gases has the highest global warming potential?

Options :
Carbon dioxide
1. %
Sulphfur hexafluoride
2.%
Chlorofluorocarbon
3 %
Methane
4. %

Question Number : 62 Question Id : 54947027885 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the percentage occurrence of earthquakes at plate boundaries?

Options :

90
1. ¢



2. %

30
3. %

13
4. %

Question Number : 63 Question Id : 54947027886 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which year, India Government has announced the National Action plan on Climate
Change?

Options :

2005
1. %

2009
2. %

2008
3.¢

2012



Question Number : 64 Question Id : 54947027887 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Radhakrishnan Commission, opined that the aim of Higher Education should be

Options :

- To inculcate values Peace and harmony.

To develop great personalities who can contribute to politics, administration,
industry and commerce

To impart traditional education to students.

To inculcate values Peace and harmony, and also develop great personalities

who can contribute to politics, administration., industry and commerce
4.9

Question Number : 65 Question Id : 54947027888 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Value education makes a student.

Options :



Successful businessman

1. ®

Good teacher
2. %

Able manager
3 %

Good citizen.
4.

Question Number : 66 Question Id : 54947027889 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among the appointees of the Governor, can be removed by the President of
India only?

Options :

Vice-Chancellor of a State University

Advocate-General



A member of the State Public Service Comimission
3%

Chief Minister of a State.

Question Number : 67 Question Id : 54947027890 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Where and when was the Second Buddhist Council held?
Options :

Sr1 Lanka in the first century BCE

Vaishali in 383 BCE

2.

Pataliputra in 250 BCE
3. %

Mandalay in 1871 CE
4. %

Question Number : 68 Question Id : 54947027891 Display Question Number : Yes Is Question Mandatory : No Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following year, the Universities in the presidency towns were
established in India?

Options :

1858
1. ®

1857
2.¢

1900
3. &

1909
4,

Question Number : 69 Question Id : 54947027892 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to National Educational Policy, 2020, the Gross Enrolment Ratio in higher
education would increased to percent by 2035.

Options :

40



LN
=

2.¢

60
3. %

70
4. %

Question Number : 70 Question Id : 54947027893 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following states. S0 Central University was established?

Options :

Tamil Nadu
1, ®

Telangana
2.¢

Tripura
3. %

Andhra Pradesh.
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Question Number : 71 Question Id : 54947027894 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Right-Duty co-relation is expounded by

Options :

Fulher

Hohfeld

[vor Jennings

Roscoe pound



Question Number : 72 Question Id : 54947027895 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who said that “some shared morality is essential to the existence of any society”?
Options :

Prof H.LL.A. Hart

1. ¢
E.L. Johnson
2. %
Holland
Paton G.W
4, %

Question Number : 73 Question Id : 54947027896 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Election Commuission of India 1s
Options :

Legislative Body



Elective Body

2. %
Constitutional Body
3. ¢
Statutory Body
4. %

Question Number : 74 Question Id : 54947027897 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stimson doctrine 1s associated with
Options :

Doctrine of Non-Recognition

1. ¢
Doctrine of Recognition
2. %
De jure Recognition
3. %

De facto Recognition



Question Number : 75 Question Id : 54947027898 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Savarkar case (1911) 1s related to
Options :

Terms and conditions of High seas

1. %
Rights of Revolutionaries
2. %
Privileges of Ambassadors
3 %
Terms and conditions of the extradition treaties
4.

Question Number : 76 Question Id : 54947027899 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Bachan Singh vs State of Punjab is related to

Options :



Custody of under trail prisoners

1. ®
. Protection of prisoners in the jails
Capital punishment in India
3. ¢
Welfare of the custody of the children
4.%

Question Number : 77 Question Id : 54947027900 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not an offence against the public tranquillity?

Options :
Affray
1. %
Assault
2.

Riot



Unlawful assembly

Question Number : 78 Question Id : 54947027901 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Punishment for rape of a girl under 12 years of age is

Options :

7 years or life imprisonment

1. %
10 years or life imprisonment
2. %
L s 14 years or life imprisonment
20 vears or life imprisonment or Death
4.9

Question Number : 79 Question Id : 54947027902 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“Vis Major’ 1s a defence for the torts of

Options :



Strict liability
1. ¢

Vicarious Liability

, « Negligence
Personal liability
4, %

Question Number : 80 Question Id : 54947027903 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The rule of Last opportunity” was laid down in the following case
Options :

Davies vs Mann
1. v

Donoghue vs Stevenson
2. %



Ashby vs white

Rylands vs Fletcher

Question Number : 81 Question Id : 54947027904 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Vidyawati vs state of Rajasthan is related to
Options :

Tortious liability of a company

1. %
Vicarious liability of state
2.¢
Contractual liability of the employee
3. %
Fraud of the employment
4.%

Question Number : 82 Question Id : 54947027905 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



A ‘contract of insurance’ 1s a contract of

Options :

Agency
1.

Bailment
2. %

Indemnity
3. ¢

Guarantee
4. %

Question Number : 83 Question Id : 54947027906 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A person who supplies “Necessaries” to minor child is entitled to be reimbursed from
the property of the minor child on the basis of a

Options :

. »  Contingent contract

- Quasi contract



Valid contract

Essential contract

Question Number : 84 Question Id : 54947027907 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Naveen Kohli vs Neelu Kohli case is related to
Options :

. Mutual consent theory
1.

Frustration Theory

[rretrievable Break-down Theory

Will Theory

Question Number : 85 Question Id : 54947027908 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Under the Hindu Adoption and maintenance Act 1956 who among the following is
not entitled to adopt?

Options :

Husband with the consent of his wife

1. %

- Husband without the consent of his wife
Wife who 1s divorced

3 %
An unmarried person

4, %

Question Number : 86 Question Id : 54947027909 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acknowledgement once made
Options :

Can be revoked with the permission of court

Can be revoked with the consent of party



Can be revoked

Cannot be revoked

Question Number : 87 Question Id : 54947027910 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Green house conference is also known as

Options :

The Montreal Protocol

1. %
The Stockholim Declaration
2. %
Kyoto conference
3.
Paris agreement
4, ®

Question Number : 88 Question Id : 54947027911 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In which year for the first time under the Environment Protection Act, 1986 the EIA
notification was formulated in India?

Options :

1994
1.¢

1996

2. 8

1998

2004

Question Number : 89 Question Id : 54947027912 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The “Protection of Literary and Artistic works’™ was first established in 1886 in which

Convention
Options :

Berne convention
1. ¢



Rome convention

; » Madrid convention

Paris convention

4. %

Question Number : 90 Question Id : 54947027913 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The supreme cowrt of India in Academy of General Education Vs B. Malini Mallya
discussed on

Options :

The concept of ‘fawr dealing” in the copy right
1.v¥

The concept of “patent” in the patent Act

The ‘Infringement” in the Trademark



The concept of “Specifications’

Question Number : 91 Question Id : 54947027914 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In India the headquarters of ‘Patent Information System” and ‘National Institute of
Intellectual Property Management” are located at

Options :

Mumbai
1.

Nagpur

2. ¢

Ahmedabad
3 %

Calcutta
4. %

Question Number : 92 Question Id : 54947027915 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is a crucial characteristic for a trademark?

Options :

Novelty

Commercial value

2. %
Distinctiveness

3.¢
Symbolic appeal

4.%

Question Number : 93 Question Id : 54947027916 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s not correct?
Options :

Intellectual property includes patents and designs only
1, *



Civil and Criminal remedies are available against the infringement of copy

right
2.¢
Piracy of intellectual property has become international in character
3. %
W IP O (the world Intellectual property organisation) has Four important
organs.
4. %

Question Number : 94 Question Id : 54947027917 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Download copy extract data from an open system done fraudulently 1s treated as

Options :

Data backup

1. ®

Cyber crime
2.

Cyber warfare
3. %



Cyber security Act

Question Number : 95 Question Id : 54947027918 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term * Rule of Law™ is derived from the French Phrase ** La Principle de Legalite’
which means

Options :

The Principles of Legality
1. ¢

The principle of Equality

2. %

The Principle of Justice
3. %

The principle of Liberty
4. %

Question Number : 96 Question Id : 54947027919 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Executive under presidential form of Government

Options :

Holds office during the pleasure of the public.

], ®
Holds office during the pleasure of the party heads.
2. %
. Holds office during the pleasure of the legislature
Holds office for a fixed tenure
4. ¢

Question Number : 97 Question Id : 54947027920 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not correct about U.S.A federal system about strength of
the centre?

Options :

There 1s rapid Technological advancement



There is increasing international trade.

2. %
There is a danger of breaking away of states from the centre
3.¢¥
There 1s a danger of nuclear war
4, %

Question Number : 98 Question Id : 54947027921 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The theory of government where one branch has power to keep another branch of
government from becoming too powertful is called
Options :

Constitutional Government

Limited Government

Checks and Balances

Separation of Powers



Question Number : 99 Question Id : 54947027922 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Thirteenth Amendment to the U.S. Constitution deals with

Options :

Poll Taxes Barred

Abolition of Slavery

2.¢
Citizenship rights
3. %
Judicial Limits
4.%

Question Number : 100 Question Id : 54947027923 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In U.S.A ‘The freedom of Information Act’ 1s called

Options :

Public Information Act
1. ¥



Right to Public Access Act

2. %

3 % Freedom of Expression Act
Citizens Information Act

4. %

Question Number : 101 Question Id : 54947027924 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Historically the fact of possession comes first and the idea of ownership is
subsequently developed’ according to

Options :

John Austin

Sir Henry Maine
2.¢

Cardozo Benjamin
3. %



Hart. HLA

4. %

Question Number : 102 Question Id : 54947027925 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Qui facit per alm facit per se’ means.

Options :

He who does it himself

He who does through another does it himself

Another person did himself

Third person did 1t to another person

Question Number : 103 Question Id : 54947027926 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Under the Constitution of India which one of the following is not a ground to issue
for proclamation of National emergency?



Options :

Armed Rebellion
1. %
External Aggression
2. %
Internal Disturbance
War
4, %

Question Number : 104 Question Id : 54947027927 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Conseil d” Etat 1s the
Options :

Administrative Tribunal i India

England Administrative court

, French Administrative court
3. -



U.S. Admunistrative Tribunal

Question Number : 105 Question Id : 54947027928 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

D.K.Khana Vs. Union of India is a leading case on

Options :
Official Bias
1. %

Personal Bias

Pecuniary Bias

Professional Bias

Question Number : 106 Question Id : 54947027929 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ‘Tofar Doctrine’ is related to
Options :
The recognition of Insurgents

1. ®

The recognition of a State
2. %

; » Therecognition of Assets

The recognition of Government
4. ¢

Question Number : 107 Question Id : 54947027930 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A State becomes and International person by recognition only. It is called
Options :

- Constitutive Theory

Declarative Theory



Evidentiary Theory

Ad hoc Theory

Question Number : 108 Question Id : 54947027931 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The International Court of Justice has applied the ‘Principle of effective Nationality’
in
Options :

Stock Vs the Public trustee case

1. ®
Re lynch case
2. %
Panevezys soldutisk case
3. %
Nottebohm’s case
4.9

Question Number : 109 Question Id : 54947027932 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Where the offender is himself in possession of the property and subsequently
dishonestly converts it to his own use. the offence committed is a

Options :

Theft

Robbery

2. %

Criminal misappropriation
3. ¢

Dacoity
4. %

Question Number : 110 Question Id : 54947027933 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For an affray under section 159 of the Indian penal code the minimum number of
persons required is

Options :

Two



Three

2. %

Four
3, %

Five
4, #

Question Number : 111 Question Id : 54947027934 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Punishment for gang rape on women under twelve years of age is mentioned in

Options :

Section 376 A of the L.P.C
1. %

Section 376 B of the I.P.C
2. %

Section 376 DA ofthe LP.C



"y Section 376 DB of the I.P.C

Question Number : 112 Question Id : 54947027935 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“The aim of punishment is to prevent others from committing similar offence’ by
which of the following theory

Options :

Reformative Theory

1. %
Retributive Theory
2. %
Preventive Theory
3. %
Deterrent Theory
4. &

Question Number : 113 Question Id : 54947027936 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Rylands vs Fletcher case was decided by
Options :

The House of Lords
1.«

The King's Bench

2. ®
The Privy council
3. %
The Queen’s Bench
4, %

Question Number : 114 Question Id : 54947027937 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Hurst vs Picture Theatres Ltd. case involved the Tort of

Options :

Trespass
1. ¢

Nuisance



Defamation

Assault

Question Number : 115 Question Id : 54947027938 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following comes first in a valid contract?

Options :

Acceptance
1. ®

Enforceability
2. %

Proposal
3.¢¥

Promise



Question Number : 116 Question Id : 54947027939 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A guarantee which extends to a series of transactions under section 129 of Indian
contract Acts 1s called

Options :

An invalid guarantee
1. %

A continuing guarantee
2. ¢

A conditional guarantee
3. %

An absolute guarantee
4.%

Question Number : 117 Question Id : 54947027940 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Joint stock company 1s managed by the board of directors elected by
Options :

Board of promoters
1. %



Company Directors

2. %

Members
3.9

Debenture holders
4, ®

Question Number : 118 Question Id : 54947027941 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One of the joint owners of goods can pass a valid title to the buyer. where he is in
sole possession of the goods

Options :
In his own right

With the permission of other co-owners
2.¢



Without the permission of other co-owners

Along with another co-owner

Question Number : 119 Question Id : 54947027942 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which case the court held that children out of Muslim marriage shall be entitled to
maintenance under Cr.P.C. after Divorce?

Options :
Sarla Mudgal Vs Union of India
Noor Sabha Khatoon Vs MD Quasim

2.

Mohammed Aslam Khan Vs K. Rahman

Daniel Latifi Vs Union of India



Question Number : 120 Question Id : 54947027943 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a ground for Divorce

Options :

Epilepsy

1. ¢

Lunacy

Venereal disease

Insanity

Question Number : 121 Question Id : 54947027944 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who mherit first when Hindu male died intestate?

Options :

Cognates



Class I heirs

2.

Class II hewrs
3%

Agnates
4, %

Question Number : 122 Question Id : 54947027945 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A will can be revoked or altered by the

Options :

Legatee of it

1. %

Maker of it
2. ¢

Executor of it
3. %

Third person



Question Number : 123 Question Id : 54947027946 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Doctrine of acknowledgement is a part of substantive Muslim law of inheritance
and not a rule of evidence - so held in the case.

Options :

Habibur Rehman vs Altaf Ali
1. %

Mohd. Amin vs Vakil Ahmed
2. %

S.A.Hussain vs Rajamma

Mohammed Allahabad khan vs Mohammed Ismail khan

4.

Question Number : 124 Question Id : 54947027947 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Article 48A of the Constitution is titled as protection and improvement of
environment and safeguard of forests and wild life of the country. This Article was
added by

Options :

40™ Amendment

1. %

4204 Amendment
2.%

39 Amendment
3. %

44% Amendment
4. %

Question Number : 125 Question Id : 54947027948 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who mtroduced the concept of third generation Human Rights

Options :

John Finnis
1. %



Tullius Casero

2.
Karel Vasak
3.¢
Ihering
4, ®

Question Number : 126 Question Id : 54947027949 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Polluter pays Principle’ was applied and defined in
Options :

Socio-Legal Action vs Union of India
], ®

Environment label council vs Union of India

Indian Council for Enviro Legal Action vs Union of India
3.¢



Delhi Municipal council vs Union of India

4. %

Question Number : 127 Question Id : 54947027950 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following chairperson of the commission is not a deemed member of National
Human Rights Commission.

Options :

Chamrman of the National Commuission for Scheduled Castes

1. %

- Chamrman of the National Commission for Scheduled Tribes

. Chamrman of the National Commission for Women
Chairman of the Union Public Service Commission

4.

Question Number : 128 Question Id : 54947027951 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Who can register geographical indication?

Options :

Company
1. ®

Individual
2. %

Partner
3.

Producers
4.9

Question Number : 129 Question Id : 54947027952 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term of copy right in Government work or public undertaking is
Options :

10 years
1. ®



20 vyears

2. %

40 years
3. %

60 years
4.«

Question Number : 130 Question Id : 54947027953 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On whom the burden of proof lies for infringement of patent?
Options :
Party in person

1. ®

On Plamtiff
2.9

On Defendant



On court

Question Number : 131 Question Id : 54947027954 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In parliamentary form of Government
Options :

The Legislature is responsible to Judiciary

1. ®

The executive is responsible to Legislature
2. ¢

The Legislature is responsible to Government
3. %

The Judiciary is responsible to Legislature
4.%

Question Number : 132 Question Id : 54947027955 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



In the yvear 1809 the institution Ombudsman was first created in

Options :

Germany

United Kingdom

2. %

France
3 %

Sweden
4.«

Question Number : 133 Question Id : 54947027956 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 19% amendment to U.S. Constitution gave voting right to

Options :

Indians



Negros

2. %

Women
3.¢

Lowering the voting age to 18 years
4.%

Question Number : 134 Question Id : 54947027957 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Right to Information Act seeks to promote the following

Options :
Punctuality
1, *
Reputation
2. %
Efficiency
3. %
Transparency

4.



Question Number : 135 Question Id : 54947027958 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The belief that there are universal moral laws that human law may not offend without
losing its legal or moral force is the foundation of

Options :

Positive Law theory

1. %

Natural Law theories
2. ¢

Realisin
3 %

Social contract theory
4, %

Question Number : 136 Question Id : 54947027959 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

John Rawls has defined “justice” as

Options :



Equality

], ®

Liberty
2. %

Fairness
3.¢

Sympathy
4, %

Question Number : 137 Question Id : 54947027960 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following cannot be a ground for judicial review of administrative action.
Options :

Turisdictional error

Irrationality



Procedural impropriety

Laches

Question Number : 138 Question Id : 54947027961 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The following is a basic principle of International Humanitarian Law

Options :

Principle of distinction

Principle of Humane treatment

2. %
Principle of Military necessity
3. %
All Options
4. &

Question Number : 139 Question Id : 54947027962 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Intergenerational equity and prioritization of basic needs are the components of the
concept of

Options :

Sustainable development

1. ¢
Public trust doctrine
2. %
Liberalization
3. %
Right to development
4, %

Question Number : 140 Question Id : 54947027963 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following cases relates to uniform civil code?
Options :
Mohini Jain’s case

1. ®

Sankari Prasad’s case
2. %



3.¢

Shah Bano case

M.C. Mehta’s case



